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Every Supermarket gives it’s customers a bag to carry their shopping home in, but are 
they all the same?
We are going to test them to find out which shop has the strongest carriers.
Hypothesis
I think that the __________________________________ carrier bag will be the strongest.
Method

We counted tins into a carrier bag until it broke.

We wrote down the number of tins each bag held.

To make sure that the test was fair we …………………………………………………………………………....

We kept …………………………………………………………………………………………...………… the same.

We changed ……………………………………………………………………………………………………………...

Results
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Conclusion
We found out that ……………………………………………………………………………………………………..

…...………………………………………………………………………………………………………………………..

If Sainsbury’s and ASDA both started charging for their
 bags, the best ones to buy would be …………...............
because ………………………………………………………..
…………………………………………………………………..
Graph to show which carrier bag was the strongest
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